RA\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, FL-20474.1

Sune Rock

Fiberglass Works

(Ol

SURE ROCK

OPAQUE FIBERGLASS ENTRY DOORS

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required to be protected with an impact resistant covering that complies with
Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Horizontal & Vertical Cross Sections (2X Buck)
Horizontal & Vertical Cross Sections (1X Buck)
Horizontal & Vertical Cross Sections (Direct to Masonry)
Vertical Cross Sections (Thresholds)

Buck & Frame Anchoring

Bill of Materials & Components

QO N[O O B WINY |

37.75" MAX. O.A.
FRAME WIDTH

0

o

n

]

o™

z

)

w .

E oo

Z Vg

g tp

4 Do

D2

(/Z’)-t"

o

&m®

O N -

o

5 O Xz

— Zo

Ep FO0o

58 358

[/ 50¢

¢ oo
LL-
o
[=

A
o .
cul

2 \ng

FBPE C.A. No. 9813

SURE ROCK
FIBERGLASS DOORS

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NO.| DATE

REVISIONS

oate: 5/17/16

)

s 3

£ 5

= o

6 £

9

s I e

v B

o <

X O

-3 2

R =

5 =

MAX. DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION FRAME INSWING OUTSWING

DIMENSION POSITIVE | NEGATIVE | POSITIVE | NEGATIVE

X 37.75" x 81.75" +90.0 -90.0 +90.0 -90.0

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

See Sheet 2 for Hardware Design Pressure Limitafions

DRAWING NO.:
FL—-20474.1

sHeer 1 oF 8

© 2016 R.W. BUuiLDING CONSULTANTS ING.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 2.1

POLYESTER
RESIN

HINGE STILE
(LVL)

‘-‘ 1.35" =

35.75" MAX.
DOOR
PANEL WIDTH

e

POLYESTER RESIN

LATCH STILE

0.5" e
’i }-‘1.35“ 135" *I / (LVL)

12.5" LONG

LOCK BLOCK ;H«

12.5' LONG
(LVL)

/"1 "\ HORIZONTAL CROSS SECTION

\2/

=1

79" MAX. DOOR PANEL HEIGHT

|

37.5"

—>; '-“- 5.5

2.9

SEE HARDWARE
CHART

. DOOR PANEL

FIBERGLASS DOOR SKIN: MIN. 0.080" THK.

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

POLYESTER

RESIN

PVC CAP

~—0.12"

0.30"

KWIKSET KNOB: Signature Series .

WIKS DEADBOLT: Signature Series (980) |  * #0 PSF
LAG KNOB: F Series (F51) .

SCHLAGE | heanBOLT: B Series (BSON) % 60 PSF

POLYESTER

RESIN

175" —m

~—1.65" —'—1‘-

TOP RAIL
(LVL)

FOAM CORE

DOOR SKIN —

BOTTOM RAIL—"|

(LVL)

POLYESTER
RESIN

et ]'65" B

= "‘— 0.30"

/" 2"\ VERTICAL CROSS SECTION

\2/

A\
)
QN

//,
)u

I/,
0

Wiy,
CHMm
\ICENSg

S

S eseen,

W
)
- <

.

Yt

P.O. Box 230, Valrico, FL 335895

BUILDING CONSULTANTS,
Phone No.:

w

Lyndon F. Schmidt
P.E. No. 43408

R

813.659.9197

FBPE C.A. No. 9813

SURE ROCK
FIBERGLASS DOORS
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oATE: 5/17/16

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.1

SHEET 2 oF 8

© 2016 R.W. BuilLDING CONSULTANTS INC.



TON SANVLIINENGT SNIATHE MM 9L 03 @

€186 'ON V'O 3d4gd SNOISINGY
LBLB6S9°CLE "ON suoyd (»ong xz) SNOILO3S SSOHO T8 SIAS 3Iva [ONl - 8_
CBSEE T4 ‘OOLIDA ‘00z X0g ‘O'd § WOILLEIA ® TVINOZINOH ﬂ ui| X v Ng N
.o_,_::.mkzﬁ.szoo S ealla Wﬂ KTBANISSY 90 1uvd N5 1. 3|6
Wil N I RN B
///M/% J(ZO\Q\\\\\ 60PCY ‘ON "I'd SY¥O0J SSv19438ld v nlnle n_L _
N2 YOO e ), IPIUSS "3 UOpUAT Y00y 34NS MEII -
Il&... .... \J\\:Am paindeud sjuswnoog 10NQaodd 51213 5 W %
J Q\cnw - “
E 60VEY ON 4.
7~ ..o o ’ll
\ .. .4
2 G A &
/7 ssse 'y
“;, WHDS W
AN
Zo
zE
T
LLE

/\//
1

®

.q 4;, m /‘
A & ®
< ) Ll — <
v TNI mm m\.”
gv < - n.m m.lm
< hdd wiE
22 e
S a2
L R wpm\ o mw
v Al - RM o m C”.n\
. . L CO m o Ln
e v le o 7% Aw
<Llo Z m Ele
g S]1= 3l
v = <
R N >3 k4 ..M.w
N [
‘ o >3 wnww
D D
[WH] N
(=) 3
(1%
>
Lol 1]
L > @W

VSPSY

T'€ ‘BMP'E-THLb0Z-1\FT02) Lb0Z-14\BUIMBIQ - D\p20Z-T4\s|eroiddy 1nPOLd ePLO]H - VAININYNYNIA 00y 2InS WH\SIDID\Y



TAON] SANVIINSNGD SNIaQTmg "M’y o L2 @

1331 da

£186 'ON V'O 3dgd

L6L6°659°CL8 ~ON suoug (N8 X1) SNOLDIS_SSOMO g MO T _
seses 4 “oouion ‘o5z xea 05 fIf WOILYFA %% TWINOZIHOH ©lylxle| ¥
‘ONI ‘SINVLINSNOO 9NIaTINg \&w N1GW3ISSY H0 LHvd U - rlr_ W o)
—|= 8 O
80%<+ "ON "3'd Sd000 SSv1od3gid > 5% o I 4_
IPILYOS 4 UopuA] Y00Y 34NS alal D I2IE D | g
. \J\\"xm paJodsud sjuswinoo( 10NA0Hd W w m W m ..wm
722
o 60VEY "ON ~
- " s 8
- % Y ] N
2 g S
\\\\ :Iom I///
SO
Za
=z
T¢
— L

INTERIOR

INTERIOR
EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
\4/ Outswing shown {Inswing similar]

/~2 "\ HORIZONTAL CROSS SECTION
\4/ Outswing shown (Inswing similar)

EXTERIOR

1-1/4" MIN.
EMB. {TYP.)

Tt 'BME-T v207-14\PT02) #Ly0Z-Td\sBuMeIq - D\yLp0Z-14\slenciddy 19nPoid BPLOLS - VALNINYWYId F20Y 21ns WH\SIIBIDNY



TONE SANVLAINSNGOD aNiagiing

M™ 9taez )

INTERIOR

A\Y

@)
EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
w Outswing shown {Inswing similar)

INTERIOR

1-1/4" MIN.
EMB. (TYP.)

186 ‘ON V'O 3d94 SNOISIAZY
L6L6'6S9'SLY ON Buoyd (AYNOSYA 0L 103¥10) SNOWJIS g 3Iva TON -
SESEE 14 ‘OOLIDA ‘OCZ XOog ‘O'd § SSOHO IVOLLH3A % TIVINOZIMOH o Uilx cS. < 8_
"ONI ‘SLNVLINSNOD ONIGTINS @u KIGWISSY d0 1uvd NS SIS
N Z I 5~
60tEy ‘ON "I'd SH00J SSVY1o¥34I4 Ts) 5l E ) |
IPIUYDS 4 uopukq M00¥ 3¥NS MEIN MR &
10Na0Nd HEIHEE &
2 60VEY ON | H 7
- - ;S
” 'coo g 9 -ot o
\\\\«Q\oco.oqmm.\NVt) ////
\\\N /) szcm /////
LTI,
Za
e
o
- L}

/"2 HORIZONTAL CROSS SECTION

\Sj Outswing shown (Inswing similar)

TS BMPE-T'vLp0Z-14\PT0Z) PLr0Z-1\sBUMeIa - D\pLp0Z-Td\s[enoiddy 10npoid BPHOIS - YAININVINYId H20Y 3InS WH\SIUBIID\Y



TON] SINVLTINSNOTD anNiaTting

MY 9102 O

€186 'ON V'O 3dgd

S6See 4

L6LE'6SICLE ON suoud (SATOHSTHHI) SNOILOIS 5 SNOISIAZY e — _
“09UIDA ‘057 X08 ‘0'd § SSO8D TOILYIA ollxlol < |
"ONI ‘SINVLINSNOD 9NIgng % TIENISSY 80 Lavd W — I =1 I
- = s ©
o~
60vCY ON "3 SH00@_ SSV1943814 & Jglgl 0|
IPIYDS "4 UOPUAT 008 34NS al9lslolET|E
\J\\im paJndaud SsjuswWINDOQ 110Naoyd W W W WW M

INTERIOR

EXTERIOR _
)

EXTERIOR

A\

0

INTERIOR

/" 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

/1" VERTICAL CROSS SECTION

W Inswing Threshold

T'9 ‘BMP €-ThLp0Z-14\WT0Z) $Lp0Z-14\sBuMeId - D\pLy0Z-T4\s|eroiddy 1onpoId epLOLY - VALNINYINYI 200y 305 WH\SIUBID\Y



W\
Sk
4 (TYP.) . 4 (TYP') | e §\°...- (}u.)'))
e ————— 3y E
A ¢ R A B | s5id g"
a . T T — raa I I - o:g = d ~
T H— I - o G2
e f ] | 17 Z ot s 43,
""~.‘f- T g -"w", : ,’/, gigg
PRt - s B ] :t-" - & /,II, % o B o
18 A < 2XBUCK = iy 3R .%
2X BUCK e $ gx2<
(TYP) HEAD & JAMBS FRAME lX BUCK £Ep Z2@4°
- (TYP.) - i - TYP = | E— £Q 3 . 5W
' HEAD & JAMBS ] (TYP.) \ DIRECTTO 8% 5029%
(TYP.) MASONRY LY moob
1. i — JAMBS c S
[ \ B YP £z
MASONRY T a1 (TYP) o — 2. &
{TYP.) - - 2
il T ZE IE
L | | DESIGN PRESSURE > & ~~~{1 | DESIGN PRESSURE | =H % U B 1 «9 ©
T UPTO == UPTO o o * €
4| | +/-90PSFMAX. =Q . 4| | +/-60PSFMAX. & I
= © g - - 52| 2
1. - L1 1 <<
. ; n |3 w
. \ : \ L2 132 =
fo st T T AL &3 |3 £
50 ul -
2% |4
L, o <
X X X ST = s
w 5 bl @
2X BUCK ANCHORING 2X BUCK ANCHORING FRAME ANCHORING 22 & &
0
£ >
25 o
- O
—Q
I 0
5
DIRECT TO : G . DIRECTTO 2
CONCRETE ANCHOR NOTES: MASONRY e MASONRY &
1. Concrete anchor locations at the comers may be adjusted to maintain the min. \ 1X BUCK hiE IXBUCK
edge distance fo mortar joints. & @
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ] l'o 2X BUCK e ] 2X BUCK
maintain the min. edge distance to mortar joints, additional concrete anchors i @ g EE:J }\»
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. \ o |
3. Concrete anchor table: W x E 7/ -® |] N
: R G T THMIN. CLEARANCE \\- _ @ :. i §@ =
2X BUCK @ — 1 27 i 5
W - , p 1X BUCK e N : : S S
® - Qi il "
TApeeH DIRECTTO HINGE DETAIL bate: 5/17/16
" . " " " *, SCALE: N_ T S
uirracon®] 14 1-1/4 ! 4 MASONRY . EB owe. 8. JK
i " o n " —
IAPCON® 3/16 1-1/4 3 1-1/2 LATCH AND DEADBOLT STRIKE PLATE DETAILS il i o anLFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of STRIKE JAMB HINGE JAMB FL—-20474.1
wood screws to prevent the splitting of wood. —_— —_— 5 3
SHEET 7 oF 8

R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 7.1

© 2016 R.W. BuiLbing CoNnsuLTaNTs ING.



R:AClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 8.1

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A | 1XBUCK (SG >= 0.42) WOOD

B | 2XBUCK (SG >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -

D | 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

¢ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR CONCRETE

HOLLOW BLOCK CONFORMING TO ASTM C90

G | 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

1 | 1/4"X 3-3/4 PFH ELCO OR ITW CONCRETE SCREW STEEL

L | #10 X 2-1/2" PEH WOOD SCREW [1.15" MIN. EMBEDMENT) STEEL

M | 3/16"X 2-1/4" PFH ITW CONCRETE SCREW STEEL

1| FRAME [SURE JAMB) COMP

6 | WEATHERSTRIP [Q-LON] FOAM

8 | SWEEP VINYL

13| INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
23 | #10 x 3/4" PFH WOOD SCREW STEEL
24 | #10x 1" PFH WOOD SCREW STEEL
25 | #8x2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29 | 4#'X 4" HINGE STEEL
40 | DOOR PANEL -

E
= 46" | ©
J
1l
247" { h S
32t
o
FRAME
Sure Jamb

-

13 INSWING THRESHOLD
ENDURA (Z-SERIES)

L 15" —=

14 OUTSWING THRESHOLD

ENDURA (Z-SERIES)

“ a@
7,
I,,
BUILDING CONSULTANTS, INC.

céy
Documents Prepared By: <

7
P.0. Box 230, Valrico, FL 33595
813.659.9197

Phone No.:
FBPE C.A. No. 9813

w

Lyndon F. Schmidt
P.E. No. 43409

R

PRODUCT:

SURE ROCK

FIBERGLASS DOORS
BILL OF MATERIALS
& COMPONENTS

PART OR ASSEMBLY:

BY

REVISIONS

NO. DATE

oatE: 5/17/16

SCALE:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-20474.1

SHEET 8 oF 8

© 2016 R.W. BUILDING CONSULTANTS ING.



